F0E(EH27FEE) RERBRXET-—AKE

TFB FEER 65—LKER-/—T7F

E£MwE :8A 1BH(XL)

£ i BEPRABET=X3—F
AJOvY A1l A2 A3 -3
NI H (5v9T6) |& B Ew ®—-0 ®—1 1
A2 |E R (OLyy2iEiR) | TR i () 0—6 ®—-5 | 2
A3 Bk T (GysTe)  |K i (595TG6) 1—6 5—6 3
B7OvY B1 B2 B3 iz
B1 |WW B (5vo76) |k ik (5voT0) ®—1 ®-—3 1
B2 |tk & K (SKTC) " Il () 1—6 ®—4 | 2
B3 |X 1B (-v732TR) |1k BB (Y-v77ATR) 3—6 4—6 3
cavy c1 c2 c3 Mg iz
c1 |@E h (5voTG)  |# & (5v976) ®—o0 ®—4 1
c2 |/ £ (SKTC) -3 18 (SKTO) 0—6 ®—1 2
C3 |8k B (yrIyvsTo) | = B (4o IYySTO) — 1—6 3
DJOwvy D1 D2 D3 B iz
D1 & F (5v9T0) |4 £ GyoT0) 2—6 —4 3
D2 & W UL=TK) (g B (JIL—TK) -2 3—6 2
D3 it B YyAnMYTC)| B B (7YanyTC) 4—6 ®-—3 1
EZOv) E1 E2 E3 -4
E1 |48 E (59976 |fR # (5v4T6) 2—6 ®—5 2
E2 |#f B L—7K | £ & L—7K) —2 ®—3 1
E3 |& 1B &-v732TR) |5T K (5y4T6) 5—6 3—6 3
FJawv4s F1 F2 F3 IR 4L
F1 |5 % (5v4T6) |48 & (5v9716) ®—4 5—6 1
F2 |rh B OuviziEx) (1 & (FLyHR1ER) 4—6 —3 2
F3 |& & ¢-v752TR) ()il # ¢V-v752TR) —5 3—6 3

LL1

LL2



